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01.

02.

03.

04.

g+t T |TeTeh, GEIh F8T9 I Hiedl 8, Th emf HT IGH I BT 81 / Whenever a conductor
cuts a magnetic flux, an emf is induced in it. This is known as

(A) i I-{d / Coulomb’s law
(B) SiteT T &I / Joule's law

(C) IS I / Faraday'’s law
(D) 3T T HFH / Ohm's law

% g gt It E-gEh o, T faeg W @ a1 7, St weamr 28— / A Magnetic

material loses its ferromagnetic properties at a point called

(A) g{t d199H / Curie temperature
(B) 3THIMG Yg A9HH / Inferred absolute temperature
(C) FHIR I AIHH / Room temperature

(D) 3 d9HM / Absolute temperature

CREKEERIEEIRSIEE] @m ‘%.’ Flux density is measured in
(A) =T H/ Tesla (B) <X H/Weber
(C) ufeER-2d & / Ampere-turn (D) THFEae A / Maxwell

T TS Wie HT &3 QAT §gal &, a9 341 "IRAT - / The area of capacitor plates increases two

times, then its capacitance

(A) @ TAT gt 8 / Increases two times
(B) IR THT el 8 / Increases four times
(C) @ TMT "t 8 / Decreases two times

(D) =R TAT Hedt 8 / Decreases four times
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05. THh TaRM dlee, SR & - / One electron volt is equivalent to

A 1.6%10%J
(B) 1.6x10™J

C) 16x107J

(D) 16x107"J

06. UH AR (resonance) TRUY H, 377G W fE@ ¥ B- / In a resonance circuit, the power factor

at resonance is
(A) 3IF/zero (B) Wehdl/ unity

(C) 0.5 (D) 15

07. U AT Hi YfaIgsHar S Gehr! HRY aYAH gl / The temperature coefficient of resistance

of a semiconductor is

(A) HhRIcHS / Positive (B) HhIIcHh / Negative

(C) I /Zero (D) 3TEH / Infinity

08. T Guris # HueTRa St & / The energy stored in a capacitor is

w S B —
2 2(c?)
(#5 v?

© = ® =
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'4» Aol TEIH (ST A

09. foreee , grafoga W@ w1 87 / What is piezoelectric effect in crystal?
(A) o & AN & HROT IAqH ﬁ'gﬁ J€Tg / current is developed due to force applied
(B) WA Tu T & HRUT I e / voltage is developed due to mechanical stress
(C) dmMHEH & w1 Sfalreesar # giEa / change in resistance because of temperature

(D) dmHHHE + HROT 311?[% o after / change in frequency because of temperature

10. quf T7&t uitenye %1 fwge] ues & / Ripple Factor of Full wave rectifier is

(A) 1.21 (B) 0.48
(C) 1.44 (D) 2.14

11.  forgsr gftenees sl %™ &0aT 8 / The efficiency of the bridge rectifier is
(A) 40.6% B) 81.2%
©) 1.12% D) 48.2%

12. Hice yHTEt ZIfRRX | B / Field Effect Transistor has
(A) dsi oy wfeemer/ large input impedance
(B) ST 3cHIgH Sfersmen / large output impedance
(C) st ﬁgﬁ Y / large power gain

(D) <s1 e T/ large voltage gain

13. TH 9T YR WS #, le =2 mA, Ic=1.9 mA 2| 3MUR fIega Y18 ST IeF 8 / In a common
base connection g = 2 mA, Ic= 1.9 mA. The value of base current is
(A) 0.95mA (B) 3.80mA

(C) 0.10 mA (D) O0mA
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AT TS (FAa ) A

14. T 395 (regulator) =T TUTEH I dieest (VRL) T 87 / What is the regulator's expected
output voltage (VRL)?

15.

16.

(A)

(©

7y

8.5
v 0

"1

4.5 Volts (B) 5.0Volts
5.5 Volts (D) 8.5 Volts

uftadt smghy gisa & R WHT %1 1 %1 2 ? / What is the purpose of the Rectifier section of

the Variable Frequency Drive?

(A)

(B)
(©)
(D)

Yea-gags & forg foga yag #1 fasm™ s 3R @it T / Monitors and develops
current for the Microprocessor

31T DC ! BH Tk AR AC T §eHT / Filters output DC to a choppy AC
Yol 3cdTeT i e / Develops a pulse output
AC ! DC ¥ gfafdd =T/ Converts AC to DC

0-400V % T9H TRR & < dlcedlet 8l <&t wfdarar 30,000 Ohms & 31 20,000 Ohms 1 AR
ITh! T @l § el ST § SR 37 T 600V TN ST &, @ S & / Two voltmeters have the

same range 0-400V. The internal impedance are 30,000 Ohms and 20,000 Ohms. If they are
connected in series and 600V be applied across them, the readings are

(A)
(B)
(©
(D)

360V 3R 240V / 360V and 240V

300V &% / 300V each

400V 3TR 200V / 400V and 200V

Tch X E\'I"!ﬁ q IR % 3T 317 100V %I / one of the meters out of the range and other 100V
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17. U IaE Foselt usw H, faeenfyq a4, guardt ® / In a moving coil instrument, the

deflecting torque is proportional to

(A) Terega waT® & / Current

(B) fomga =t El"ﬁl?[ / square root of the current
(C) faga =1 &t / square of the current

(D) AyRve *1 f4EF B / sign of the measurand

18. TV @=RUl ¥, @|H g ffuf¥a 21/ In TV transmission, sound signal is
modulated
(A) e / Amplitude (B) ﬁl?i’ﬁl / Frequency
(C) wradt / Phase (D) 39S HI§ &l / None of above

19. Ucd Yy H, 3 3H (IRW) ¥ ¢ ATH (THIRT) St H&d 8| / In pulse transmitter the ratio of time

on to time off is called

(A) St &/ efficiency (B) g TTfhe / duty cycle
(C) TR / base (D) aﬂzﬁ@!bandwidth

20. ﬁ'ﬂ]ﬂﬂa‘{ o BT 8 / Transponder comprises of
(A) 39 / Transmitter (B) MUk / Receiver

(C) T=MET/ Antenna (D) 3T ¥ eI / All above combined

21. 390 ¥ H-H1 NUW % A= deb Ha95 $! qgadiq JIRANT LT 8 ? / Which BEST describes a

Programmable Logic Controller?

(A) T L ! i S H T YT 3A~d: 9 39h{UT / A safety interlocking device vital to
the performance of machine guarding.

B) fergamefit wihean & stfemym & fow swft we fefsiea wwet/ A digital computer used for

automation of electromechanical processes.

(©) Hedenierer 3uswr W, T 3R fefiee Jvht & fow v foram s aren s 2/

Preferred substitute for analog and digital transmitters on radiological equipment

(D) ofia 3R gHERG ot fmehr 39 wfhar TR 3K sg@ § afadl it samT 81/ Series

and paralleled relays used to denote changes in process level and flow.
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22. Ush NAND e ! aAfyges de dcd el AT %, Fifeh / A NAND gate is called a universal logic

23.

24.

25,

element because
(A) 3T IUINT TS Hd & / It is used by everybody
(B) Tﬁé +ft ThTa SR B NAND 71T FRY forar < R %I / any logic function can be realized by

NAND gates
(C) s fefea WI?E{ NAND 721 =T 39917 s{d & / many digital computers use NAND gates

(D) asft ?rga?wﬂ?:r ?ﬁl-T«ﬁTm", NAND 2 % ﬁ'-IQ & 2/ all miniaturization techniques are applicable
for NAND gate realization :

fe=x W= 10101, WA G&IT % S 8 / The binary number 10101 is
equivalent to decimal number
(A) 19 B) 12
C) 27 (D) 21

i fed u et wehae o ufy & fore, @t gferm sifireafda @1 87 / Which is the correct

Boolean Expression for the Logic Circuit below?
A }
B
} D

(A) AB+AC=D (B) AB+AC=D
(C) AB+AC=D (D) AB+AC=D

Wt wEn #l, s foe R&afy @ 9 9gem, ¥ UK 81 / Shifting a register

content to left by one bit position is equivalent to
(A) & & fa / division by two (B) I ¥ IS /addition by two
(C) < ¥ T / multiplication by two (D) < ¥ ©TMT / subtraction by two
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26.

27.

28.

29.

30.

T ITROT 91, h3 Gl o fefes Sl Y, T 3qET o157 T 9= <dt 8 / A device which

allows digital information from several sources to be routed on to a single output line is

(A) qEETRI / comparator (B) fasrdrasofia / differentiator
(C) wgfaea / multiplexer (D) SWfcZAFR / demultiplexer

HIG HIg W YT, faga Iswn # fhat R % MOSFET %1 39T fhan et 87 / Based on

operational mode, how many types of MOSFET are used in electronic devices?
(A) 5 (B) 4
€ 3 (D) 2

fpg &9 #, BJT TR Teeei~eh 3URUT S R shidl & ? / In which region does BJT act as

the amplifier electronic device?
(A) He-3ATH / Cut-off (B) §qRd / Saturation
(C) fssa / Active (D) 3 Fi‘q’ﬁ‘flf Reverse saturation

Th T S8 UREiYeh #, SceT oigl A ‘B @&l Bl 8, S 3@ DC HWa & forg srgfua sAwdt 21
?ﬁlﬁ IR 99 % ﬁ’ﬂ{ I8 3I9ANT foRaT ST Eehan % / A simple diode rectifier has ‘ripples’ in the output
wave which makes it unsuitable as a DC source. To overcome this one can use

(A) T IR YfaQeehar s Avfid GUTRE / A capacitor in series with the load resistance
(B) T MR Yfalleehdl T HHMIRK W T HHTRE / A capacitor in parallel to the load resistance
() oA & a3 fRufeat (A 3k B) %M UMt / Both of the mentioned situations (A and B) will

work

(D) 39t s Hft fufa (A 3k B) % 71df it / None of the mentioned situations (A and B) will

work

5.8 x 107 mho-m TTThdl & Tl TRIY TR W 40 mV/m % foRIa €T STell SITar @1 38eht
foga wa@ we=ar |1 gFft? / An electronic circuit wire of conductivity 5.8 x 107 mho-m is
subjected to an electric field of 40 mV/m. What will be its current density?

(A) 2.32 x 10° A/m? (B) 1.16 x 10 A/m?
(C) 4.64 x 10° A/m? (D) 4.30 x 10° A/m?
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31. = 4 @ SN-8 IS &1 39N, GUSHT dvg UrH fheex weiiaes aiwel § giar 82 / Which of

the following diode is used in adjustable band pass filter electronic circuits?

(A) SR EﬁEIZener diode (B) EICy ?:-'q:f?si / Varactor diode
(C) TAd A1g / Tunnel diode (D) ¥HIEh! BATE / Schottky diode

32. 9 @@ 1T A F for, stk qeh ﬁg 2 / For the connections shown below, the equivalent

logic gate is
Ug o———-—ﬂ-——-ﬂ
UC 0-‘-—'-—“'—-"——"—4-
RS
=
(A) ORgate (B) AND gate
(C) XOR gate (D) NAND gate

33. fefvreat uftwell § 1C &1 #F @1 U, s faiw @fRex & o v & %/l %1 @i 22 / Which

characteristic of IC in Digital Circuits represents a function of the switching time of a particular

transistor?
(A) -3/ Fan — out (B) ®9-3T /Fan—in
(C) ﬁg’d faua / Power dissipation (D) FERIT <t / Propagation delay

34. J-KTheq-ge d, frg a@ &1 @ S ®, 59 J M K Q1 FEw 1 % SR €7 / What kind

of operation occurs in a J — K flip flop when both inputs J and K are equal to 1?

(A) TER & A< forar =R/ Preset operation
(B) 9d: e foran wr / Reset operation

(C) foeTat %™ / Clear operation

(D) < rer %1 / Toggle operation
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35. Y = CD+EF+G %l U1 & foiw a1avass <r-fasft AND 31k OR 712 fpas 87 / How many two-input
AND and OR gates are required to realize Y = CD+EF+G?

(A) 2,2 B) 2,3
() 3,3 (D) 3,2

36. Th S-RT (FvEl) 8/An SR latch is
(A) TS YR9Y / Combinatorial Circuit
(B) FHHIfCTH it TIaY / Synchronous sequential Circuit
(C) T foe 9 9 / One bit memory element

(D) T HEt < & / One clock delay element

37. s faulia wfa gy, arftrerer fAfifa 8 / A counter circuit is usually constructed of
(A) 3 §ﬁ3‘éﬁ (et=w) wuTa ®9 | IR / A number of latches connected in cascade form
(B) % NAND 72, yuTd ®9 ¥ I3 / A number of NAND gates connected in cascade form
(C) wurd &9 H Aifora w§ foeTg—%aTd / A number of flip-flops connected in cascade

(D) Y4Id &9 o Tifoa ﬁ NOR 72 / A number of NOR gates connected in cascade form

38. Th 8-fae war wis, fohan wmfuion % A9 # 97 a1 82 / How much locations an 8-bit

address code can select in memory?

A) 8 TIFMYROT / 8 locations
(B) 256 TJMFMHNUI / 256 locations
(C) 65,536 WMMYRU /65,536 locations

(D) 131,072 TAFE /131,072 locations
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39. 63N YfeRlEes W dieest T 9aT @Y ? / Find the voltage across the 6 ohm resistor.

(A)

(©)

6 ohm 15 ohm
12 ohm
[ g
| &
150 V
150 V (B) 1816V
2727V (D) 5448V

40. Aoft #§ ¢ wfotiuel &% U Arehar @41 &M ? / What will be the equivalent conductance of
resistors connected in series?

(A)

(B)

()

(D)

Hfera Sfigshl H =Terehar et 1 & / Sum of conductance values of individual

resistors

farra gfodigshi 6t =Terehal Yol & 91 %1 FS / Sum of the square of conductance values

of individual resistors

fdmra gfediges! 6t FTershdr qodi % b % $ol Sl gokd / Reciprocal of the sum of

reciprocal of conductance values of individual resistors

femra gfaliaes! 6t =Terehar el & 97 % gohd % %ol 1 YchA| / Reciprocal of the

sum of reciprocal of the square of conductance values of individual resistors

41. f=fafea # @ feget, KCL % 3199R, Y BT A1(8T ? / Which of the following according to KCL

must be zero?

(A)
(B)
(©)

(D)

s¢-o" #, faga-sgEl % SIS %o / Algebraic sum of currents in closed-loop
§¢-o0 ¥, faga &1 Semfiedia $& / Aigebraic sum of power in closed-loop
T FhyH W, Jasft R S8t SHarelt foga sg@t &t somiind $e / Algebraic sum of

currents entering and leaving a junction

e 3tk 3T W Seest 1 SSIRT et / Algebraic sum of voltages across the input

and output

12
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42. DC WX # ING emf, forg TR dices GHT'{ﬁf 9 wfafsear sstar 8?7 / How does induced emf in DC

motor react to supply voltage?

(A)
(B)

©
(D)

9% dicest Y[ <hl TEEAT AT / It will aid the supply voltage
g dieed ﬂTQﬁ <l AT BT/ It will be double the supply voltage
35|T5[ﬁ-"f e 1 faer w4 / 1t will oppose the supply voltage
98 ATY(d dieesT 1 ATHT BT/ It will be half of the supply voltage

43. Y gl Iyt AT AT T 8 7 / Which modulation scheme is used by Bluetooth?

44,

45,

(A)
(©)

MSK (8) DQPSK
BPSK (D) GFSK

A3RBS O Nl gfeiershar 8 7 / The total resistance between A and B are?

(A)
(©)

AAMA

20Q

A

200

A A

20Q

FAAM -

200

20 ohm (B) 5ohm
80 ohm (D) 0ohm

e & & Ha-T1, 99 & R HI, SfFaE T Y JYART T 87 / Which of the following is a

universally adopted shape of cell?

(A)
(©)

BreRior / Triangle (8) it / Square
g1 / Circle (D) YgHS/ Hexagon
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46. TGAR urelt A, TSrft RIE! @Y, <Al o i @wgh S =i m feam @ 87 / Why neighbouring
stations are assigned different group of channels in cellular system?

(A) TEI&Y I =IJaH HH & 1T/ To minimize interference

(B) & I =IaH A & T / To minimize area

(C) YuiqaT Afershad &3 % fAIT / To maximize throughput

(D) TS Aet st HE &A1 ! 31w FA F T / To maximize capacity of each cell

47. g 999 ° g8 ¥ BITT| / Interference in control channel leads to

(A Tuf¥a amaf / Cross talk
(B) =hdR / Queuing
(C) I shie / Blocked calls

(D) amft 2f%e / Voice traffic

48. g H yH™ H Ta w R s mem A ywm A i S gua R FEdE [/ The

ratio of speed of light in air to the speed of light in another medium is called as

(A) T ©I2 / Speed factor
(B) Ssuafezeh fRR / Dielectric constant
(C) wiafswst g=ft / Reflection index

(D) 39T / Refraction index
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A

49. Tww Wifta, gfie HeR Hit aET ¥ IRfa & 3K S Her (dg) ¥ el S whar B, HEAE §

/ A measure of amount of optical fiber emitted from source that can be coupled into a
fiber is termed as

50.

51.

(A)
(B)
©)
(D)

<iftd / Radiance

Eauie] ﬁg?r HTEeA / Angular power distribution
SYfenT &HAT / Coupling efficiency
féqa—ar%ﬁ / Power-launching

G q edl Hl FAARR W FAde Hl 3R Th Tod I A @ a1 GO doeh & 1Y 41 qrn e / If

two bulbs are connected in parallel and one bulb blows out, what happens to the other bulb?

(A)

gall sew ot /@1 S / The other bulb blows out as well

(B) & wew yemWH W It Hifa | / The other bulb continues to glow with the same

brightness

(C) qull wew IR ferss et g3 ifta & =marft / The other bulb glows with increased brightness

©)

giger & T ﬁgﬂ U418 <hl %FIW oI'IsW / Calculate the total current in the circuit.

(A)
(©)

SElt Se9 SHHAT 95 X ¢ / The other bulb stops glowing

2 ohm 4 ohm

AMMN—!

20 A () 10A
11.43 A (D) 15A
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52. fo=faRea & & SF |1 %3 T & ? / Which of the following statement is false?
(A) 3TT=iier 3refmeres, sTedt 31ef ol @ =Tetehal § 98X &I & / Intrinsic semiconductors are

better in conductivity than extrinsic semiconductor

(B) 3=l 3T IS 81a &/ Intrinsic semiconductors are pure
(C) 3Tt 3Irtfureis #, weThal ORI W UG BT & / The conduction relies on

temperature in intrinsic semi conductor

(D) sl K DEIGED 3G E"ﬁ?f % |/ Extrinsic semiconductors are impure

53. U fRAWR (clipper) uftaer <61 98 +ft a1 wrar @ / A clipper circuit is also known as
(A) Teafirex after / Limiter circuit (B) TR gR9e / Clamper circuit
(C) =R 9RUY / Chopper circuit (D) =TSR 9RYY / Charger circuit

54. etz foor & forg, f & @ 19 @1 2= @& 87 / Which of the following statement is true for
Schmitt trigger? '

(A) TeRree afmel & guar @ ok 5t Fee § 39 fFar Smar 8 / Used to remove noise from

signals in digital circuits

(B) gkl 9T / Is a comparator circuit
(C) UHRIHS HISsh T ITANT T 2 / Uses Positive feedback
(D) W "a/ All of the above

55. U# Moot (URmET) R dieedier o ufafda fpar o gwar R, @ oSew

A galvanometer can be converted into a voltmeter by connecting

(A) ’{@Fﬂ o 3= gfeteshar =t /A high resistance in series
(B) YHHI=X o f= wfeierssan = / A low resistance in parallel
(C) THMIR # 3= Wialigshar sl / A high resistance in parallel
(D) #@en § T wfadieesar =t / A low resistance in series
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*71» '_ RETIE IR P MERCIECT)

A

56.

57.

58.

59.

60.

Ff¢ foreft e 1 9ga IR AT 91Y SR Tk IR/, TR T Th R F §gd el & I8 G 8

o AT / If a given substance is measured multiple times and each time if all the

measurements are close to each other it represents the measurement is very
(A) ¥gd GG 8/ sensitive (B) Wi & (W&) / accurate
(C) EI]WE 2 / Precise (D) YRS T / All of the above

4 foga wew, y® 50 aree 230 V I, Avft # §2 § a1fh I 230 diee i yff W wH| fega

@ay grft / Two electric lamps each of 50 watts 230 V are connected in series to a supply of 230

volts. The power consumed would be
(A) 50 Watts (B) 25 watts
(C) 100 watts (D) 200 watts

LED =7 faf3rse rfta ﬁgﬁ a8 2 / Typical operating current of LED is
(A) 50mA (B) 5mA
(C) 10mA (D) 30mA

X I 7T ST B / Varistor is known as

(A) AeeS ~ YR Tfeierss / voltage-dependent resistor

(B) férg?r YaTg ~ YTa Ifaiess / current dependent resistor
(C) dIees - IMYTNG &g / voltage-dependent diode

(D) Ao - o Tfades / voltage-independent resistor

HTTP AT 24 T IU1 &9 & / The term HTTP stands for

(A) Hyper terminal tracing program
(B) Hypertext transfer protocol

(C) Hypertext tracing protocol

(D) Hypertext transfer program

Qpdw eflarbesafl ymisdl Fpeier o pgin euerrsid/
T AT Hivisd / ISRO Propulsion Complex — griiyed/3rder/April 10, 2022

17




TR e BIFad/ISRO PROPULSION COMPLEX
ﬂ%ﬁﬁﬂ'fMahendragiri

Advt. No.IPRC/RMT/2019/02 dated 21.09.2019

Name of the Post

TECHNICAL ASSISTANT (ELECTRONICS)

Post Code

018

FINAL ANSWER KEY FOR WRITTEN TEST HELD ON 10.04.2022

Question No.

Answer Key

Question No,

Answer Key

01

C

31

B

02

32

03

33

04

34

05

35

06

36

07

| P O| > > P

37

08

*
£
*

38

09

39

10

40

11

41

12

42

13

43

14

44

15

45

16

46

17

47

18

48

19

49

20

50

21

51

22

52

23

53

24

54

25

55

26

56

27

57

W OO O0O|0O|0|>»0@O|O000|0|B|IOIO|>»|0|0|>

28

58

*
*
*

29

59

>

30

> W|O|O0|O0|> 0O 000|020 00> 0| 0|m

30

os)

*** Question not considered for evaluation




